Negative Zahlen Variante 12 Klasse: Datum:

Multiplikation bis 1.000 Blatt 13 Name:

@ a) (+280) « (-3) = b) (-4) « (+130) =
© (-26) « (-200 = D 41y e (130 =
©) (40) + (+16) = D en e =

@ a) (+60) e« (-15) = b) (-19) « (+40) =
9 (-60) o (-11) = D (+2) o (2200 =
e) (-190) « (+5) = f) (-20) « (-32) =

@ D (+430) + (-21) = 7y . (r100 =
c) (-300) « (-3) = d) (+15) « (-60) =
© (80 o (v11) = N

@ a) (+60) o (-10) = b) (-12) « (#70) =
c) (-120) » (-5) = d) (+6) e (-140) =
©) (-50) + (+19) = N N S NI

@ a) (+30) o (-27) = b) (-2) « = -780
o e (-20) = 860 9 (+2) « (-280) =
€) (-60) - = -600 " « (-290) = 870
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Negative Zahlen Variante 12

Multiplikation bis 1.000 Blatt 13

@ D) (+280) « (-3) = -840 ) (-4 . (+130 = 520
C) (-26)  (-20) = 520 d) (+7) » (-130) = -910
©) (-40) .+ (+16) = 640 D -n . (120) = a0,

@ a) (+60) « (-15) = -900 b) (-19) « (+40) = -760
9 (-60) + (-11) = 660, D (+2) «(-410) = -820
e) (-190) « (+5) = -950 f) (-20) « (-32) = 640

@ a) (+30) « (-21) = -630 b) (-7) e« (+100) = -700
c) (-300) « (-3) = 900 d) (+15) « (-60) = -900
® (-80) + (v11) = 890 N L]

@ a) (+60) « (-10) = -600 b) (-12) « (#70) = -840
C) (-120) » (-5) = 600 d) (+6) « (-140) = -840
©) (-50) .+ (+19) = -950 D 9 . (70 = 630,

@ a) (+30) o (-27) = -810 b) (-2) ¢ (+390 = -780
©) (- 43) e (-20) = 860 9 (+2) « (-280) = -560
€) (-60) - = -600 "  (-290) = 870
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